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	1.	 àíZ-nwpñVH$m {_bVo hr _wI n¥îR> Ed§ A§{V_ n¥îR> _| {XE JE {ZX}em| H$mo 
AÀN>r Vah n‹T> b| Ÿ& àíZ nwpñVH$m _| bJr grb H$mo drjH$ Ho$ H$hZo go nyd© 
Z Imob| Ÿ&

	2.	 D$na {XE hþE {ZYm©[aV ñWmZm| _| AnZm AZwH«$_m§H$, CÎma-nwpñVH$m H$m H«$_m§H$ 
{bI| VWm AnZo hñVmja H$a| Ÿ&

	3.	 Amo.E_.Ama. CÎma-erQ> _| g_ñV à{dpîQ>`m§ {X`o J`o {ZX}emZwgma H$a| AÝ`Wm 
CÎma-erQ> H$m _yë`m§H$Z Zht {H$`m OmEJm Ÿ&

	4.	 grb ImobZo Ho$ ~mX gw{ZpíMV H$a b| {H$ àíZ-nwpñVH$m _| Hw$b n¥îR> D$na 
{bIo AZwgma {XE hþE h¢ VWm Cg_| g^r 150 àíZm| H$m _wÐU ghr h¡ Ÿ& {H$gr 
^r àH$ma H$s Ìw{Q> hmoZo na 15 {_ZQ> Ho$ A§Xa drjH$ H$mo gy{MV H$a ghr  
àíZ-nwpñVH$m àmßV H$a| Ÿ&

	5.	 àË`oH$ àíZ hoVw àíZ-nwpñVH$m _| àíZ Ho$ ZrMo {XE JE Mma {dH$ënm| _| go  
ghr/g~go Cn`wŠV Ho$db EH$ hr {dH$ën H$m M`Z H$a OMR CÎma-erQ> _| ghr 
{dH$ën dmbo Jmobo H$mo Omo Cg àíZ Ho$ gab H«$_m§H$ go gå~§{YV hmo H$mbo ̀ m Zrbo  
~m°b-ßdmBÊQ> noZ go ^a| Ÿ&

	6.	 ghr CÎma dmbo Jmobo H$mo AÀN>r Vah go ^a|, AÝ`Wm CÎmam| H$m _yë`m§H$Z Zht hmoJm & 
BgH$s g_ñV {Oå_oXmar narjmWu H$s hmoJr & 

	7.	 àíZ-nwpñVH$m _| 150 dñVw{ZîR> àíZ {XE JE h¢ Ÿ& àË òH$ ghr CÎma hoVw 2 A§H$ 
Am~§{Q>V {H$`m J`m h¡ VWm JbV CÎma A§{H$V H$aZo na � A§H$ H$mQ>o Om |̀Jo &

	8.	 àíZ-nwpñVH$m VWm CÎma-erQ> _| {Z{X©îQ> ñWmZm| na à{dpîQ>̀ m§ ^aZo Ho$ A{V[aŠV H$ht 
^r Hw$N> Z {bI| Ÿ& AÝ`Wm OMR erQ> H$m _yë`m§H$Z Zht {H$`m Om òJm &

	9.	 narjm g_mpßV Ho$ CnamÝV Ho$db Amo.E_.Ama. CÎma-erQ> Ed§ àíZ nwpñVH$m H$s 
H$ìha noO drjH$ H$mo gm¢nZr h¡ & CÎma-erQ> H$s H$m~©Z H$m°nr VWm àíZ-nwpñVH$m 
narjmWu AnZo gmW bo Om gH$Vo h¢ &

	10.	 Bg àíZ-nwpñVH$m _| {ZåZ ^mJ hmo§Jo :-
		  ^mJ - (1)	 amÁ` H$m gm_mÝ` kmZ	 –	 1 – 30	

		  ^mJ - (2)	 ^mfm ({hÝXr, N>ÎmrgJ‹T>r Ed§ A§J«oOr)	 –	 31 – 60

		  ^mJ - (3)	 gm_mÝ` _mZ{gH$ `mo½`Vm	 –	 61 – 90

		  ^mJ - (4)	 {dkmZ, àm¡Úmo{JH$s, n`m©daU, H¥${f	 –	 91 – 150
				    Ed§ dm{ZH$s	
11.	 `{X A§J«oOr ^mfm _| H$moB© g§Xoh h¡ Vmo {hÝXr ^mfm H$mo hr àm_m{UH$ _mZm Om òJm Ÿ&

instructionS To candidates
	 1.	 Immediately after getting the booklet read instructions carefully, 

mentioned on the front and back page of the question booklet and 
do not open the seal given on the question booklet, unless asked 
by the invigilator.

	 2.	 Write your Roll No., Answer-Sheet No., in the specified places 
given above and put your signature.

	 3.	 Make all entries in the OMR Answer-Sheet as per the given 
instructions otherwise Answer-Sheet will not be evaluated.

	 4.	 After Opening the seal, ensure that the Question Booklet 
contains total no. of pages as mentioned above and printing 
of all the 150 questions is proper. If any discrepancy is found, 
inform the invigilator within 15 minutes and get the correct 
booklet.

	 5.	 While answering the question from the Question Booklet, for each 
question choose the correct/most appropriate options out of four 
options given, as answer and darken the circle provided against 
that option in the OMR Answer-Sheet, bearing the same serial 
number of the question. Darken the circle only with Black or Blue 
ball point pen.

	 6.	 Darken the circle of correct answer properly otherwise answers will 
not be evaluated. The candidate will be fully responsible for it.

	 7.	 There are 150 objective type questions in this Question Booklet.  
2 marks is allotted for each correct answer and � mark will be 
deducted for each wrong answer.

	 8.	 Do not write anything anywhere in the Question Booklet and 
the Answer-Sheet except making entries in the specified places 
otherwise OMR Sheet will not be evaluated.

	 9.	 After completion of the examination, only OMR Answer Sheet and 
cover page of Question Booklet is to be handed over to the invigilator. 
Carbon copy of the Answer-Sheet and Question Booklet may be taken 
away by the examinee.

	10.	 This Question Paper consists of Parts namely :-
		  Part – (1)	 General Knowledge of the State	 –	 1 – 30
		  Part – (2)	 Language (Hindi, Chhattisgarhi	 –	 31 – 60
				    and English)	
		  Part – (3)	 General Mental Ability 	 –	 61 – 90
		  Part – (4)	 Science, Technology, Environment,	–	 91 – 150
				    Agriculture and Forestry
	11.	 In case of any ambiguity in English version the Hindi version shall 

be considered authentic.
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	 1.	 Which of the following district has 
the highest percentage of tribal 
population ?

	 (A)	 Bijapur

	 (B)	 Dantewada

	 (C)	 Narayanpur

	 (D)	 Bastar

	 2.	 Famously known as tiger kid

	 (A)	 Gend Singh

	 (B)	 Gundadhur

	 (C)	 Annamdev

	 (D)	 Chendru

	 3.	 The thrashing instrument of this State 

in which the antelope horn is attached, 

is named as

	 (A)	 Dholak

	 (B)	 Nagada

	 (C)	 Gudum

	 (D)	 Dafada

	 1.	 {ZåZ _| go {H$g {Obo _| OZOmVr` OZg§»`m H$m 

à{VeV A{YH$ h¡ ?

	 (A)	 ~rOmnwa

	 (B)	 XÝVodm‹S>m

	 (C)	 Zmam`Unwa

	 (D)	 ~ñVa

	 2.	 Q>mB©Ja {H$S> Ho$ ê$n _| {d»`mV h¡ 

	 (A)	 J¢X qgh

	 (B)	 Jw§S>mYya

	 (C)	 AÞ_Xod

	 (D)	 M|Xé

	 3.	 Bg amÁ` H$m nrQ>H$a ~Om ò OmZo dmbo dmÚ ̀ §Ì {Og_| 

~mahqgJm H$m gtJ bJm hmoVm h¡, CgH$m Zm_ h¡ 

	 (A)	 T>mobH$

	 (B)	 ZJm‹S>m

	 (C)	 JwXþ_

	 (D)	 X\$‹S>m

Part – 1

 general knowledge of the state  amÁ` H$m gm_mÝ` kmZ
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	 4.	 Which of the following tribe group 
means ‘Servant’ ?

	 (A)	 Asur	 (B)	 Bhatara

	 (C)	 Bhaina	 (D)	 Gadaba

	 5.	 When is Baiga tribe of this State 
perform ‘Bilama dance’ ?

	 (A)	 Diwali

	 (B)	 Dushara

	 (C)	 Marriage	

	 (D)	 Holi

	 6.	 How many districts are included as 
aspirational districts in the State ?

	 (A)	 8	 (B)	 9

	 (C)	 10	 (D)	 11

	 7.	 Ramita Sori and Neha Markam of this 

state have won the bronze medal for 

which sports ?

	 (A)	 Kabbadi

	 (B)	 Table tennis

	 (C)	 Badminton

	 (D)	 Archery

	 4.	 {ZåZ{b{IV _| go {H$g OZOm{V g_yh H$m AW© 
"godH$' hmoVm h¡ ?

	 (A)	 Agwa	 (B)	 ^Vam

	 (C)	 ^¡Zm	 (D)	 JX~m

	 5.	 Bg amÁ` Ho$ ~¡Jm OZOm{V _| "{~b_m ZmM' H$~ 
{H$`m OmVm h¡ ?

	 (A)	 Xrdmbr

	 (B)	 Xeham

	 (C)	 {ddmh

	 (D)	 hmobr

	 6.	 amÁ` _| {H$VZo {Obm| H$mo AmH$m§jr` {Obo Ho$ ê$n 
_| em{_b {H$`m J`m  h¡ ?

	 (A)	 8	 (B)	 9

	 (C)	 10	 (D)	 11

	 7.	 Bg amÁ` H$s a{_Vm gmoar Ed§ Zohm _aH$m_ Zo {H$g 

Iob Ho$ {bE H$m±ñ` nXH$ OrVm h¡ ?

	 (A)	 H$~S²>S>r

	 (B)	 Q>o~b Q>o{Zg

	 (C)	 ~¡S>q_Q>Z

	 (D)	 Vra§XmOr
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	 8.	 Which is the secondary mineral 

product in the State ?

	 (A)	 Bauxite

	 (B)	 Tin-ore

	 (C)	 Dolomite

	 (D)	 Molding Sand

	 9.	 In which year, the contribution of 
manufacturing sector has declined in 
Gross State Domestic Product of the 
State at constant prices during period 
2014 – 15 to 2020 – 21 ?

	 (A)	 2016 – 17	 (B)	 2018 – 19

	 (C)	 2019 – 20	 (D)	 2020 – 21

	 10.	 Who can be recalled from his office ?

	 i.	 Panch

	 ii.	 Sarpanch

	 iii.	 President of Nagar Panchayat

	 iv.	 President of Zila Panchayat

	 (A)	 i

	 (B)	 i	 ii

	 (C)	 i	 ii	 iii

	 (D)	 i	 ii	 iii	 iv

	 8.	 amÁ` _| H$m¡Z-gm I{ZO CËnmX Jm¡U I{ZO h¡ ?

	 (A)	 ~mŠgmBQ>

	 (B)	 {Q>Z A`ñH$

	 (C)	 S>mobmo_mBQ>

	 (D)	 _mopëS>¨J g¡ÊS>

	 9.	 df© 2014 – 15 go 2020 – 21 H$s Ad{Y _| 
amÁ` Ho$ gH$b Kaoby CËnmX _| {d{Z_m©U joÌ H$m 
`moJXmZ pñWa H$s_Vm| na {H$g df© _| KQ>m h¡ ?

	 (A)	 2016 – 17	 (B)	 2018 – 19

	 (C)	 2019 – 20	 (D)	 2020 – 21

	 10.	 H$m¡Z AnZo nX go àË`md{V©V {H$`m Om gH$Vm h¡ ?

	 i.	 n§M

	 ii.	 gan§M

	 iii.	 ZJa n§Mm`V H$m AÜ`j

	 iv.	 {Obm n§Mm`V H$m AÜ`j

	 (A)	 i

	 (B)	 i	 ii

	 (C)	 i	 ii	 iii

	 (D)	 i	 ii	 iii	 iv
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	 11.	 In the context of election which of the 

following is matched ?

	 i.	 Panch

	 ii.	 Sarpanch

	 iii.	 Deputy Sarpanch

	 iv.	 President of Municipal Council

	 (A)	 i	 ii	 iii

	 (B)	 i	 ii	 iv

	 (C)	 ii	 iii	 iv

	 (D)	 i	 iii	 iv

	 12.	 Who holds two offices in Panchayati 

Raj Institution ?

	 i.	 Sarpanch

	 ii.	 Deputy Sarpanch

	 iii.	 President of Janpad Panchayat

	 iv.	 Vice President of Zila Panchayat

	 (A)	 i	 ii	 iii

	 (B)	 i	 ii	 iv

	 (C)	 ii	 iii	 iv

	 (D)	 i	 iii	 iv

	 11.	 {Zdm©MZ H$s ÑpîQ> go BZ_| go Š`m gw_o{bV h¡ ?

	 i.	 n§M

	 ii.	 gan§M

	 iii.	 Cn gan§M

	 iv.	 ZJanm{bH$m n[afX H$m AÜ`j

	 (A)	 i	 ii	 iii

	 (B)	 i	 ii	 iv

	 (C)	 ii	 iii	 iv

	 (D)	 i	 iii	 iv

	 12.	 n§Mm`Vr amO g§ñWm _| H$m¡Z Xmo nX YmaU H$aVm h¡ ?

	 i.	 gan§M

	 ii.	 Cn gan§M

	 iii.	 OZnX n§Mm`V H$m AÜ`j

	 iv.	 {Obm n§Mm`V H$m CnmÜ`j

	 (A)	 i	 ii	 iii

	 (B)	 i	 ii	 iv

	 (C)	 ii	 iii	 iv

	 (D)	 i	 iii	 iv
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	 13.	 Match the following with the help of 

codes :

			   List – 1	 List – 2

	 1.	Harshwardhana	 a.	Rajarshitulyakula

	 2.	Pravar Raj I	 b.	Nala Dynasty

	 3.	Vilastunga	 c.	Sharabhapuriyas

	 4.	Bhimsena	 d.	Pandu Dynasty

		  Codes :

	 	 1	 2	 3	 4

	 (A)	 b	 a	 d	 c

	 (B)	 d	 c	 b	 a

	 (C)	 c	 b	 a	 d

	 (D)	 a	 c	 b	 d

	 14.	 Who was the founder of Kalchuri 

dynasty in this State ?

	 (A)	 Kalingaraja

	 (B)	 Kamalraj

	 (C)	 Ratnaraj

	 (D)	 Prithvideva

	 13.	 {ZåZ{b{IV H$mo Hy$Q> H$s ghm`Vm go gw_o{bV 
H$s{OE :

			   gyMr – 1	 gyMr – 2

	 1.	hf©dY©Z	 a.	 amO{f©Vwë`Hw$b

	 2.	àdaamO àW_ 	 b.	Zb d§e

	 3.	 {dbmgVw§J	 c.	ea^nwar`

	 4.	^r_goZ	 d.	nmÊSw> d§e

		  Hy$Q> :

	 	 1	 2	 3	 4

	 (A)	 b	 a	 d	 c

	 (B)	 d	 c	 b	 a

	 (C)	 c	 b	 a	 d

	 (D)	 a	 c	 b	 d

	 14.	 Bg amÁ` _| H$bMw[a d§e H$m g§ñWmnH$ H$m¡Z Wm ?

	 (A)	 H$qbJamO

	 (B)	 H$_bamO

	 (C)	 aËZamO

	 (D)	 n¥ÏdrXod
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	 15.	 Arrange the following events 
chronologically.

	 1.	 Transfer of capital from Ratanpur 
to Raipur.

	 2.	 Maratha attack on this State.

	 3.	 Implementation of the Subedari 
system in this State.

	 4.	 End of Sati system.

	 (A)	 1, 2, 3, 4

	 (B)	 2, 3, 4, 1

	 (C)	 2, 3, 1, 4

	 (D)	 3, 4, 1, 2

	 16.	 In which district of this State, first bird 
festival was organized ?

	 (A)	 Kawardha

	 (B)	 Bemetara

	 (C)	 Dhamtari

	 (D)	 Raigarh

	 17.	 Amita Shriwas of this State is related 
with which of the following ?

	 (A)	 Weight lifting 

	 (B)	 Mountaineering

	 (C)	 Wrestling

	 (D)	 Kho-Kho

	 15.	 {ZåZ{b{IV KQ>ZmAm| H$mo H$mbH«$_mZwgma bJmBE &

	 1.	 aVZnwa go am`nwa amOYmZr H$m ñWmZm§VaU &

	 2.	 Bg amÁ` na _amR>m AmH«$_U &

	 3.	 Bg amÁ` _| gy~oXmar ì`dñWm H$m àmaå^ &

	 4.	 gVràWm H$m CÝ_ybZ &

	 (A)	 1, 2, 3, 4

	 (B)	 2, 3, 4, 1

	 (C)	 2, 3, 1, 4

	 (D)	 3, 4, 1, 2

	 16.	 Bg amÁ` H$m àW_ njr CËgd {H$g {Obo _| 
Am`mo{OV {H$`m J`m ?

	 (A)	 H$dYm©

	 (B)	 ~o_oVam

	 (C)	 Y_Var

	 (D)	 am`J‹T>

	 17.	 Bg amÁ` H$s A{_Vm lrdmg H$m g§~§Y {ZåZ _| go 
{H$ggo h¢ ?

	 (A)	 ^maÎmmobZ

	 (B)	 nd©VmamohU

	 (C)	 Hw$íVr

	 (D)	 Imo-Imo
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	 18.	 Which film of this state has received 

National Film Award of 2021 ?

	 (A)	 Bhulan Lata

	 (B)	 Bhulan Kanda

	 (C)	 Bhulan the Maze

	 (D)	 Triveni

	 19.	 Which of the following is the ‘Hunting 

Dance Drama’ of the tribal of Bastar ?

	 (A)	 Karma dance

	 (B)	 Hulkipata

	 (C)	 Dandami dance

	 (D)	 Maopata

	 20.	 Which ruler of Ratanpur is mentioned 

in the ‘Gopalla Song’ of the Dewars ?

	 (A)	 Kalyan Sai

	 (B)	 Bahar Sai

	 (C)	 Pratap Mall

	 (D)	 Bimbaji Bhonsale

	 18.	 Bg amÁ` H$s {H$g {\$ë_ H$mo 2021 _| amîQ́>r` {\$ë_ 

nwéñH$ma àmßV hþAm h¡ ?

	 (A)	 ^ybZ bVm

	 (B)	 ^ybZ H$m§Xm

	 (C)	 ^ybZ X _oO

	 (D)	 {ÌdoUr

	 19.	 {ZåZ{b{IV _| go H$m¡Z-gm ~ñVa H$s OZOm{V H$m 
EH$ "{eH$ma Z¥Ë` ZmQ>H$' h¡ ?

	 (A)	 H$a_m Z¥Ë`

	 (B)	 hþbH$snmQ>m

	 (C)	 S>§S>m_r Z¥Ë`

	 (D)	 _mAmonmQ>m

	 20.	 aVZnwa Ho$ {H$g emgH$ H$m CëboI Xodmam| Ho$ 

"Jmonëbm JrV' _| àmßV hmoVm h¡ ?

	 (A)	 H$ë`mU gm`

	 (B)	 ~mha gm`

	 (C)	 àVmn_ëb

	 (D)	 {~å~mOr ^m|gbo
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	 21.	 Meaning of ‘Mahala’ in Muriya  
Marriage is

	 (A)	 Sagai

	 (B)	 Oil Plating

	 (C)	 Applying Tilak

	 (D)	 Crown Binding

	 22.	 In which district of the State ‘‘Food-Park’’ 
is established ?

	 (A)	 Ambikapur

	 (B)	 Dhamtari

	 (C)	 Balrampur

	 (D)	 Sukuma

	 23.	 In how many categories, the ‘‘State 
Industrial Award Scheme’’ is given ?

	 (A)	 5	 (B)	 4

	 (C)	 3	 (D)	 6

	 24.	 On which year flat rate electricity facility 
is provided to all farmers in the State ?

	 (A)	 November 2013

	 (B)	 August 2018

	 (C)	 January 2019

	 (D)	 August 2020

	 21.	 _w[a`m {ddmh _| "_mhbm' H$m AW© hmoVm h¡

	 (A)	 gJmB©

	 (B)	 Vob M‹T>mZm

	 (C)	 Q>rH$m bJmZm

	 (D)	 _wHw$Q>> ~§YZ

	 22.	 amÁ` Ho$ {H$g {Obm _| "\w$S>-nmH©$' H$s ñWmnZm H$s 
J`r h¡ ?

	 (A)	 Apå~H$mnwa

	 (B)	 Y_Var

	 (C)	 ~bam_nwa

	 (D)	 gwHw$_m

	 23.	 ""amÁ` Am¡Úmo{JH$ nwañH$ma ̀ moOZm'' {H$VZo lo{U`m| 
_| {X`m OmVm h¡ ?

	 (A)	 5	 (B)	 4

	 (C)	 3	 (D)	 6

	 24.	 amÁ` Ho$ g^r {H$gmZm| H$mo âboQ> aoQ> na {dÚwV H$s 
gw{dYm H$~ go Xr Om ahr h¡ ?

	 (A)	 Zdå~a 2013

	 (B)	 AJñV 2018

	 (C)	 OZdar 2019

	 (D)	 AJñV 2020
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	 25.	 In which sector the advanced estimate 
of growth rate of Gross State Domestic 
Product at constant prices is negative 
in the State in the year 2020 – 21 ?

	 (A)	 Agriculture and Allied sectors

	 (B)	 Industry

	 (C)	 Services

	 (D)	 Manufacturing

	 26.	 Which sector is not included in secondary 
sector of the State economy ?

	 (A)	 Manufacturing

	 (B)	 Construction

	 (C)	 Electricity, gas and water supply

	 (D)	 Mining and quarry

	 27.	 Which irrigation source is known as 
assured irrigation source in the State ?

	 I.	 Dam/Canal

	 II.	 Tube wells

	 III.	 Tanks

	 IV.	 Wells

	 (A)	 I

	 (B)	 I and II

	 (C)	 I, II, III

	 (D)	 I, II, III and IV

	 25.	 df© 2020 – 21 _| amÁ` _|$ gH$b Kaoby CËnmX H$s 
d¥{Õ Xa pñWa H$s_Vm| na A{J«_ AZw_mZ Ho$ AZwgma 
{H$g joÌ _| F$UmË_H$ ahr h¡ ?

	 (A)	 H¥${f Ed§ gå~Õ joÌ

	 (B)	 CÚmoJ

	 (C)	 godmE§

	 (D)	 {d{Z_m©U

	 26.	 amÁ` H$s AW©ì`dñWm Ho$ {ÛVr`H$ joÌ _| {H$g joÌ 
H$mo em{_b Zht {H$`m OmVm h¡ ?

	 (A)	 {d{Z_m©U

	 (B)	 {Z_m©U

	 (C)	 {dÚwV, J¡g Ed§ Ob Amny{V©

	 (D)	 IZZ Ed§ CËIZZ

	 27.	 amÁ` _| H$m¡Z-gm qgMmB© òmoV gw{ZpíMV qgMmB© 
òmoV _mZm OmVm h¡ ?

	 I.	 Obme`/Zha|

	 II.	 ZbHy$n

	 III.	 Vmbm~

	 IV.	 Hw$E§

	 (A)	 I

	 (B)	 I Am¡a II

	 (C)	 I, II, III

	 (D)	 I, II, III Am¡a IV
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	 28.	 Which of the following is the true 
reason of this State has gone into 
the British Protectorate ?

	 (A)	 The Bhonsla ruler of Nagpur 
Appa Sahib was defeated by the 
British.

	 (B)	 Appa Sahib had ceded this State 
to the British.

	 (C)	 The treaty with Appa Sahib had 
ceded this State to the British.

	 (D)	 On 31 May 1818 the Nagpur 
Resident Jenkins had announced 
that during the minority of 
Raghuji III the Maratha State 
would come under British 
control.

	 29.	 Which of the following is the least rainfall 
area in the Chhattisgarh State ?

	 (A)	 Lormi Plateau

	 (B)	 Kondagaon Plateau

	 (C)	 Jashpur Pat

	 (D)	 Samri Pat

	 30.	 About what percentage of the total 
forest area of Chhattisgarh is covered 
with sal forest ?

	 (A)	 36.6	 (B)	 40.6

	 (C)	 44.6	 (D)	 48.6

	 28.	 {ZåZ{b{IV _| go H$m¡Z-gm H$maU gË` h¡ {Oggo 

Bg amÁ` H$mo {~«{Q>e g§ajU _| OmZm n‹S>m ?

	 (A)	 ZmJnya Ho$ ^m|gbm emgH$ Aßnm gm{h~ H$mo 
A§J«oOm| Zo nam{OV {H$`m &

	 (B)	 Aßnm gm{h~ Zo Bg amÁ` H$mo A§J«oOm| H$mo Xo 
{X`m &

	 (C)	 Aßnm gm{h~ Ho$ gmW g§{Y Ho$ AZwgma Bg 
amÁ` H$mo A§J«oOm| H$mo gm¢n {X`m &

	 (D)	 31 _B© 1818 H$mo ZmJnya Ho$ aoOrS>oÝQ> OoZqH$g 
_| KmofUm H$s {H$ aKwOr V¥Vr` H$s Ad`ñH$Vm 
g_mßV hmoZo VH$ g§nyU© _amR>m amÁ` {~«{Q>e 
{Z`§ÌU _| ahoJm &

	 29.	 N>ÎmrgJ‹T> amÁ` _| {ZåZ _| go H$_ dfm© dmbm joÌ 
H$m¡Z-gm h¡ ?

	 (A)	 bmoa_r nR>ma

	 (B)	 H$moÊS>mJm§d nR>ma

	 (C)	 Oenwa nmQ>

	 (D)	 gm_ar nmQ>

	 30.	 N>ÎmrgJ‹T> Ho$ Hw$b dZ joÌ Ho$ bJ^J {H$VZo à{VeV 
joÌ _| gmb dZ h¢ ?

	 (A)	 36.6	 (B)	 40.6

	 (C)	 44.6	 (D)	 48.6
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	 31.	 ""h_ `h b‹S>H$s {H$gH$mo X| ?'' - Bg dmŠ` _| 
{H«$`m {H$g H$mb _| h¡ ?

	 (A)	 g§^mì` ^{dî`V² H$mb

	 (B)	 gm_mÝ` ^{dî`V² H$mb 

	 (C)	 hoVwhoVw_X² ^{dî` H$mb

	 (D)	 BZ_| go H$moB© Zht

	 32.	 "Omo g~_| ì`mßV h¡' Ho$ {bE EH$ eãX h¡ 

	 (A)	 gd©Ì ì`mnr

	 (B)	 {XJÝV ì`mnr 

	 (C)	 gd©ì`mnr

	 (D)	 {ZOì`mnr

	 33.	 {ZåZ{b{IV _| {H$g eãX _| àË`` gå~ÝYr  
Aew{Õ h¡ ?

	 (A)	 AÜ`mË_H$

	 (B)	 gm¢X`© 

	 (C)	 gm¡OÝ`

	 (D)	 àmpßV

	 34.	 {ZåZm§{H$V _| AKmof, ñne©, AënàmU ì §̀OZ  
Zht h¡ 

	 (A)	 H$

	 (B)	 Q>

	 (C)	 n

	 (D)	 BZ_| go H$moB© Zht

Part – 2
Language (Hindi, Chhattisgarhi and English)

^mfm ({hÝXr, N>ÎmrgJ‹T>r Ed§ A§J«oOr)
Language Hindi

^mfm {hÝXr
	 35.	 "CXÿ©' {H$g ^mfm H$m eãX h¡ ?

	 (A)	 VwH$s©	 (B)	 Aa~r 
	 (C)	 \$magr	 (D)	 A§J«oOr

	 36.	 {ZåZm§{H$V _| ñÌrqbJgyMH$ eãX h¡

	 (A)	 H|$MwAm	 (B)	 Om|H$ 
	 (C)	 IQ>_b	 (D)	 H$m¡Am

	 37.	 "Mm±X na WyH$Zm' _whmdao H$m AW© h¡

	 (A)	 ~‹T>H$a ~mV H$aZm

	 (B)	 gå_mZZr` H$m AZmXa H$aZm 

	 (C)	 _hËdmH$m§jr hmoZm

	 (D)	 {H$gr H$s ~mV Z _mZZm

	 38.	 ZrMo {XE JE eãXm| _|, EH$dMZ go ~hþdMZ ~ZmZo 
_| {H$g eãX H$m ê$n n[ad{V©V hmoVm h¡ ?

	 (A)	 bmbm	 (B)	 _m_m 
	 (C)	 H$Vm©	 (D)	 Am±I

	 39.	 {ZåZ{b{IV _| VËg_ eãX Zht h¡ 

	 (A)	 H${d	 (B)	 Amkm 

	 (C)	 g~	 (D)	 H$m`©

	 40.	 "VoOmoam{e' eãX h¡

	 (A)	 ñda g§{Y

	 (B)	 ì`§OZ g§{Y 

	 (C)	 {dgJ© g§{Y

	 (D)	 "VoOmoam{e' g§{Y eãX Zht h¡



		  	 10223/DE – WQS/RCE – M

	 -14-	 Set-A

a\$  H$m`©  Ho$ {bE ñWmZ
Space for Rough Work

	 41.	 N>ÎmrgJ‹T>r ^mfm H$m ñWmZr` ~mo{b`m| Ho$ {_lU go ~Zo 
àH$ma Ho$ AmYma na npíM_r N>ÎmrgJ‹T>r H$m EH$ ê$n h¡

	 (A)	 IëhmQ>r	 (B)	 b[a`m 
	 (C)	 ~ñV[a`m	 (D)	 gaJw{O`m

	 42.	 {hÝXr Ho$ eãX "`hm§' H$mo _Ü` joÌr` _mZH$ 
N>ÎmrgJ‹T>>r _| H$hm OmVm h¡

	 (A)	 E b§J	 (B)	 B§hm 
	 (C)	 EoVr	 (D)	 Eo H$am

	 43.	 1904 _| N>ÎmrgJ‹T>r ^mfm H$s àH$m{eV àW_ 
H${dVm g§J«h _mZm OmZo dmbm "H${dVm Hw$gw_' Ho$ 
aMZmH$ma H$m Zm_ h¡

	 (A)	 ZaoÝÐ Xod d_m©
	 (B)	 n§. gwÝXabmb e_m© 
	 (C)	 bmoMZ àgmX nm§S>o`
	 (D)	 _wHw$Q>Ya nmÊS>o`

	 44.	 {hÝXr H$m dmŠ` "gm_Zo go {ZH$b J`m' H$mo 
N>ÎmrgJ‹T>r _| {bIm Om`oJm

	 (A)	 AmJy bo {ZH$a Joh©g
	 (B)	 gm_y§ bo {ZH$aUo 
	 (C)	 gm_Zo bo  {ZH$brg
	 (D)	 AmJy go {ZH$b JBg

	 45.	 N>ÎmrgJ‹T>r bmoH$ gm{hË` Ho$ {dH$mg H$m H$mb 
{d^mOZ Ho$ A§VJ©V Am{XH$mb AWdm JmWm `wJ 
_mZm OmVm h¡

	 (A)	 {dH«$_ g§dV² 1500 – 1900
	 (B)	 {d.g§. 1000 – 1500 
	 (C)	 {d.g§. 700 – 1300 
	 (D)	 {d.g§. 1850 – 1950

	 46.	 {~`mgr Ho$ ZJa Zm_H$ H${dVm Ho$ aMZmH$ma h¢ 
	 (A)	 Hw§$O{~hmar Mm¡~o
	 (B)	 Ho$`ya ^yfU 
	 (C)	 OJÝZmW àgmX
	 (D)	 í`m_bmb MVwd}Xr

	 47.	 {ZíM`mW©H$ Ho$ ^{dî`H$mb H$s {H«$`m dmŠ`  
"_¢ ~mha AmD±$Jm' H$m N>ÎmrgJ‹T>r ê$n ~VbmB`o &

	 (A)	 _§o ha ~mhra Amhÿ±	(B)	 _¢ hrQ >J`o hmo 
	 (C)	 _¢ {h{Q> hm|	 (D)	 _¢ OmdV hm|

	 48.	 {J«`g©Z N>ÎmrgJ‹T>r H$s CËn{Îm {H$ggo _mZVo h¢ ?
	 (A)	 AY©_mJYr	 (B)	 em¡agoZr 
	 (C)	 àmH¥$V	 (D)	 nmbr

	 49.	 {ZåZ{b{IV CnÝ`mgm| Ed§ CgHo$ boIH$m| H$mo 
gw_o{bV H$s{O`o &

	 a.	 \w$Q>hm H$a_	 i.	~§erYa e_m©
	 b.	 Hw$b Ho$ _aOmX 	 ii.	{ede§H$a ewŠb
	 c.	 _m|Jam	 iii.	R>m. öX` qgh Mm¡hmZ
	 d.	 hrê$ Ho$ H${hZr	 iv.	Ho$`ya ^yfU
		  a	 b	 c	 d	
	 (A)	 i	 ii	 iii	 iv
	 (B)	 iv	 iii	 i	 ii 
	 (C)	 iii	 iv	 ii	 i
	 (D)	 iv	 ii	 i	 iii

	 50.	 X§Vodm‹S>m _| àmßV g§dV² 1760 H$m N>ÎmrgJ‹T>r ^mfm 
{_{lV JÚ {ebmboI {H$g amOm go g§~§{YV h¡ ?

	 (A)	 {X½nmb Xod	 (B)	 Jm§Jo` Xod
	 (C)	 H$Ýha Xod 	 (D)	 BZ_| go H$moB© Zht

Language Chhattisgarhi
^mfm N>ÎmrgJ‹T>r
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	 51.	 She __________ in the temple for last 
one hour. 

		  Which of the following will fill up the 
blank ?

	 (A)	 sat

	 (B)	 has been sitting

	 (C)	 had been sitting

	 (D)	 has sat

	 52.	 Choose the correct synonym of the 
word :

		  Gregarious

	 (A)	 Introvert

	 (B)	 Sociable

	 (C)	 Isolated

	 (D)	 None of the above

	 53.	 Which of the following word is not 
correctly spelt ?

	 (A)	 Heinous

	 (B)	 Dragon

	 (C)	 Mischievous

	 (D)	 Aparthied

	 54.	 Fill in the blank with Article wherever 

necessary :

		  Let us play _______ game of cricket.

	 (A)	 an

	 (B)	 a

	 (C)	 the

	 (D)	 None of the above

	 55.	 Complete the sentence with the correct 

option :

		  When I reflect on the pleasant memories 

of my childhood I am overcome by a 

wave of

	 (A)	 sentimental

	 (B)	 lonely

	 (C)	 boredom

	 (D)	 nostalgia

Language English
^mfm A§J«oOr
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	 56.	 Give antonym of the word :

		  variegated

	 (A)	 Beauty

	 (B)	 Similar

	 (C)	 Different

	 (D)	 Various

	 57.	 Fill in the blank with suitable 

preposition :

		  Do you object ________ my opening 

the window ?

	 (A)	 on

	 (B)	 upon

	 (C)	 to

	 (D)	 of

	 58.	 The study of the origin of words or of 

word histories is called

	 (A)	 Philology

	 (B)	 Verbology

	 (C)	 Etymology

	 (D)	 None of the above	

	 59.	 Choose the correct narration :

	 	 Peter said to me, ‘‘Do you like horse 
riding ?’’

	 (A)	 Peter said Are you fond of horse 
riding

	 (B)	 Peter asked me whether I liked 
horse riding

	 (C)	 Peter said Is horse riding liked by 
me

	 (D)	 None of the above

	 60.	 Consider the following phrases :

		  P :	was cleared by the Union 

Cabinet

		  Q :	The Proposal

		  R :	To raise the minimum age of 

marriage

		  S :	For whomen from 18 to 21

		  Which of the following sequence makes 
correct and meaningful sentence ?

	 (A)	 PQRS

	 (B)	 QRSP

	 (C)	 RSPQ

	 (D)	 SPQR
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	 61.	 In the following question, two statements 

are given followed by two conclusions 

I and II. Taking the two statements as 

true, decide which one of the answers 

(A), (B), (C), (D) logically follows ?
		  Statements : 
		  S1 : All keys are locks.
		  S2 : Some locks are doors.

		  Conclusions : 
		  I : Some doors are keys.
		  II : No door is key. 

	 (A)	 Only I follows 	

	 (B)	 Only II follows 

	 (C)	 Neither I nor II follows 

	 (D)	 Both I and II follow

	 62.	 Choose the odd one out.

	 (A)	 841	 (B)	 626

	 (C)	 1090	 (D)	 962

	 63.	 Find the missing letters.

		  DEF, DEF2, DE2F2, ____, D2E2F3

	 (A)	 DEF3	 (B)	 D2E2F2

	 (C)	 D3EF3	 (D)	 D2E3F2

	 61.	 ZrMo {XE J ò àíZ _|, Xmo H$WZ VWm Xmo {ZîH$f© I d II 

{X`o J`o h¢ & XmoZm| H$WZm| H$mo gË` _mZVo hþE, {ZU©` 

H$a| {H$ CÎmam| (A), (B), (C), (D) _| go H$m¡Z-gm 

EH$ Vm{H©$H$ ê$n go {ZH$bVm h¡ ? 

		  H$WZ :

		  S1 : g^r Mm~r Vmbo h¢ & 
		  S2 : Hw$N> Vmbo XadmOo h¢ & 

		  {ZîH$f© : 
		  I : Hw$N> XadmOo Mm~r h¢ &
		  II : H$moB© XadmOm Mm~r Zht h¡ & 

	 (A)	 Ho$db I àmßV hmoVm h¡ 

	 (B)	 Ho$db II àmßV hmoVm h¡ 

	 (C)	 Z Vmo I Am¡a Z hr II àmßV hmoVm h¡

	 (D)	 I d II XmoZm| àmßV hmoVo h¢

	 62.	 {^Þ H$mo Mw{ZE &

	 (A)	 841	 (B)	 626

	 (C)	 1090	 (D)	 962

	 63.	 {dbwßV Ajam| H$mo kmV H$s{OE &

		  DEF, DEF2, DE2F2, ____, D2E2F3

	 (A)	 DEF3	 (B)	 D2E2F2

	 (C)	 D3EF3	 (D)	 D2E3F2

Part – 3
General Mental Ability gm_mÝ` _mZ{gH$ `mo½`Vm
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	 64.	 If 9 3 27

3 81
27

5 3

4

n × ×

×
=( )

( )
, then value of 

n is

	 (A)	 0	 (B)	 2
	 (C)	 3	 (D)	 4

	 65.	 In the following question, two statements 

are given followed by two conclusions 

I and II. Taking the two statements as 

true, decide which one of the answers 

(A), (B), (C), (D) logically follows ?

		  Statements :
	 	 S1 : Some players are singers.
		  S2 : All singers are tall.
		  Conclusions :
		  I : Some players are tall.
		  II : All players are tall.

	 (A)	 Only I follows
	 (B)	 Only II follows
	 (C)	 Neither I nor II follows
	 (D)	 Both I and II follow

	 66.	 In a certain language, “ORAL” is written 
as “3196”. How will “WRITTEN” be 
written in that language ?

	 (A)	 5523995

	 (B)	 5992255

	 (C)	 5522995

	 (D)	 5522996

	 64.	 `{X 
9 3 27

3 81
27

5 3

4

n × ×

×
=( )

( )
, V~ n H$m _mZ h¡

	 (A)	 0	 (B)	 2
	 (C)	 3	 (D)	 4

	 65.	 ZrMo {XE J`o àíZ _|, Xmo H$WZ VWm Xmo {ZîH$f© I 

d II {X`o J`o h¢ & XmoZm| H$WZm| H$mo gË` _mZVo hþE, 

{ZU©` H$a| {H$ CÎmam| (A), (B), (C), (D) _| go 

H$m¡Z-gm EH$ Vm{H©$H$ ê$n go {ZH$bVm h¡ ? 

		  H$WZ :
		  S1 : Hw$N> {Ibm‹S>r Jm`H$ h¢ &

		  S2 : g^r Jm`H$ b§~o h¢ &
	 	 {ZîH$f© :

		  I : Hw$N> {Ibm‹S>r bå~o h¢ &
		  II : g^r {Ibm‹S>r bå~o h¢ &

	 (A)	 Ho$db I àmßV hmoVm h¡ 
	 (B)	 Ho$db II àmßV hmoVm h¡ 

	 (C)	 Z Vmo I Am¡a Z hr II àmßV hmoVm h¡
	 (D)	 I d II XmoZm| àmßV hmoVo h¢

	 66.	 `{X {H$gr {ZpíMV ̂ mfm _| “ORAL” H$mo “3196” 
{bIm OmVm h¡, Vmo “WRITTEN” H$mo Cgr ^mfm 
_| H¡$go {bIm OmEJm ?

	 (A)	 5523995
	 (B)	 5992255

	 (C)	 5522995

	 (D)	 5522996
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	 67.	 Four positions of a dice are given 
below. Which number will be opposite 
to  6 ?

		

	 (A)	 1	 (B)	 2
	 (C)	 3	 (D)	 4

The following Pie chart shows the expenditure 
of a family on different items based on its 
monthly income.

	Where,

	A : Expenditure on education of children

	B : House rent

	C : Expenditure on electricity and water

	D : Expenditure on petrol

	E : Expenditure on food

Question number 68 and 69 are based on the 

chart given above. Answer these questions.

	 68.	 If expenditure on electricity and water 
is Rs. 800, then how much is the 
expenditure on food ?

	 (A)	 Rs. 5,500	 (B)	 Rs. 5,600
	 (C)	 Rs. 5,800	 (D)	 Rs. 6,000

	 67.	 EH$ nmgo H$s Mma pñW{V`m± ZrMo Xr J`r h¢ & 6 Ho$ 
{dnarV H$m¡Z-gm A§H$ hmoJm ? 

		

	 (A)	 1	 (B)	 2
	 (C)	 3	 (D)	 4

EH$ n[adma H$s _m{gH$ Am` Ho$ AmYma na, n[adma _| {H$`o 
J`o {d{^Þ _Xm| _| ì`` H$m {ddaU {ZåZm§{H$V d¥Îm-{MÌ _| 
Xem©`m J`m h¡ &

Ohm±,

A : ~ÀMm| H$s {ejm na ì``

B : _H$mZ H$m {H$am`m

C : {~Obr Am¡a nmZr na ì``

D : noQ´>mob na ì``

E : ^moOZ na ì``

àíZ H«$_m§H$ 68 Am¡a 69 Cn[ad{U©V {MÌ na AmYm[aV h¢ & 

BZ àíZm| Ho$ CÎma Xr{OE &

	 68.	 `{X {~Obr Am¡a nmZr na ì`` é. 800 hmo, Vmo 
^moOZ na {H$VZm ì`` hmoJm ?

	 (A)	 é. 5,500	 (B)	 é. 5,600
	 (C)	 é. 5,800	 (D)	 é. 6,000
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	 69.	 If expenditure on education of children is 
Rs. 20,000, what is the house rent ?

	 (A)	 Rs. 4,000

	 (B)	 Rs. 4,400

	 (C)	 Rs. 4,500

	 (D)	 None of these

	 70.	 Ramu can understand English and 
Malayalam, Bholu can understand 
Telugu and Kannada, Ranku can 
understand Sanskrit and Hindi while 
Shyamu can understand Telugu and 
Hindi both. If Mohan knows Telugu 
and Hindi both, then with whom he can 
communicate ?

	 (A)	 With Bholu and Ranku but not 
with Ramu 

	 (B)	 With Ramu and Shyamu but not 
Ranku 	

	 (C)	 With Bholu, Shyamu and Ranku 
but not with Ramu 

	 (D)	 With all Mohan can communicate

	 71.	 Ramesh always gives an answer 
admitting more than one meaning. 
Then his answer is 

	 (A)	 Non-diplomatic 

	 (B)	 Diplomatic 

	 (C)	 Confusing 

	 (D)	 Irrelevant 

	 69.	 `{X ~ÀMm| H$s {ejm na ì`` é. 20,000 h¡, Vmo 
_H$mZ H$m {H$am`m {H$VZm h¡ ?

	 (A)	 é. 4,000

	 (B)	 é. 4,400

	 (C)	 é. 4,500

	 (D)	 BZ_| go H$moB© Zht

	 70.	 am_y A§J«oOr VWm _b`mb_ g_P gH$Vm h¡, ^moby 

VobwJy VWm H$ÝZ‹S> g_P gH$Vm h¡, a¢Hy$ g§ñH¥$V 

VWm {hÝXr g_P gH$Vm h¡ O~{H$ í`m_y VobwJy 

VWm {hÝXr XmoZm| g_P gH$Vm h¡ & `{X _mohZ 

VobwJy VWm {hÝXr XmoZm| OmZVm h¡, V~ {H$Zgo dh 

g§dmX H$a gH$Vm h¡ ? 

	 (A)	 ^moby VWm a¢Hy$ go naÝVw am_y go Zht  

	 (B)	 am_y VWm í`m_y go naÝVw a¢Hy$ go Zht 

	 (C)	 ^moby , í`m_y VWm a¢Hy$ go naÝVw am_y go Zht 

	 (D)	 g^r go _mohZ g§dmX H$a gH$Vm h¡ 

	 71.	 a_oe gX¡d EH$ go A{YH$ AW© dmbm CÎma XoVm  
h¡ & V~ CgH$m CÎma h¡ 

	 (A)	 J¡a-Hy$Q>Zr{VH$ 

	 (B)	 Hy$Q>Zr{VH$ 

	 (C)	 ^«m_H$ 

	 (D)	 Aàmg§{JH$ 
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	 72.	 Make a meaningful sentence from 
following group of words :

		  smile, a, had, Rita, beautiful 	

	 (A)	 Had a Rita beautiful smile. 

	 (B)	 Rita had beautiful a smile. 

	 (C)	 Beautiful Rita had a smile. 

	 (D)	 Rita had a beautiful smile.

	 73.	 In a certain code, ‘Quo Cui Heer’ 
means ‘Boy is good’, ‘Lai Mea Quo’ 
means ‘Meena is fair’, ‘Ruq Lev Mea’ 
means ‘All are fair’ and ‘Si Hai Cui’ 
means ‘Dog was good’. How is ‘fair’ 
written in that code ?

	 (A)	 Si	 (B)	 Mea

	 (C)	 Lev	 (D)	 Hai

	 74.	 How many persons are doctor, painter 
and musician also ?

		

	 (A)	 4	 (B)	 6

	 (C)	 7	 (D)	 8

	 72.	 {ZåZ eãXm| Ho$ g_yh go EH$ AW©nyU© dmŠ`  
~ZmB`o :

		  _wñH$mZ, H$s, Wr, arVm, gwÝXa 

	 (A)	 Wr H$s arVm gwÝXa _wñH$mZ &  

	 (B)	 arVm Wr gwÝXa H$s _wñH$mZ &

	 (C)	 gwÝXa arVm Wr H$s _wñH$mZ & 

	 (D)	 arVm H$s _wñH$mZ gwÝXa Wr & 

	 73.	 `{X {H$gr gm§Ho${VH$ ^mfm _| ‘Quo Cui Heer’ 
H$m _Vb~ ‘Boy is good’ h¡, ‘Lai Mea Quo’ 
H$m _Vb~ ‘Meena is fair’ h¡, ‘Ruq Lev 
Mea’ H$m _Vb~ ‘All are fair’ h¡ Am¡a ‘Si Hai 
Cui’ H$m _Vb~ ‘Dog was good’ h¡, Vmo Cg 
^mfm _| ‘fair’ H$mo H¡$go {bI|Jo ?

	 (A)	 Si	 (B)	 Mea

	 (C)	 Lev	 (D)	 Hai

	 74.	 {H$VZo Eogo ì`pŠV h¢, Omo S>m°ŠQ>a, {MÌH$ma Am¡a 
g§JrVk ^r h¢ ?

		

	 (A)	 4	 (B)	 6

	 (C)	 7	 (D)	 8
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	 75.	 Which of the following diagram 
represents correct relationship between 
Horse, Animal and Crow ?

	 (A)	

	 (B)	 	

	 (C)	

	 (D)	

	 76.	 A statement is followed by two 
conclusions I and II. Assuming 
everything in the statement to 
be true, decide which conclusion 
logically follows the statement ?

		  Statement  : It is not possible for 
Rekha to take admission in any 
institution having higher fee. 

		  Conclusions :
		   I :	Rekha did not take admission in  

a foreign Institution.                       
		   II :	Rekha loves much her country. 

	 (A)	 Only I follows 
	 (B)	 Only II follows 
	 (C)	 Both I and II follow 
	 (D)	 Neither I nor II follows 

	 75.	 {ZåZ{b{IV _| go H$m¡Z-gm {MÌ Kmo‹S>m, new Am¡a 
H$m¡Am Ho$ _Ü` ghr g§~§Y H$mo Xem©Vm h¡ ?

	 (A)	

	 (B)	 	

	 (C)	

	 (D)	

	 76.	 EH$ H$WZ Ho$ ~mX Xmo {ZîH$f© I Am¡a II {X`o J`o  
h¢ & ̀ h _mZVo hþE {H$ H$WZ _| g~ Hw$N> gË` h¡, ̀ h 
{ZU©` H$s{OE {H$ Vm{H©$H$ ê$n go H$m¡Z-gm {ZîH$f© 
H$WZ go àmßV hmoVm h¡ ?

		  H$WZ :	ewëH$ A{YH$ hmoZo na {H$gr g§ñWm _| àdoe 
boZm aoIm Ho$ {bE g§^d Zht h¡ & 

		  {ZîH$f© :
		  I :	 {dXoe H$s EH$ g§ñWm _| aoIm Zo àdoe Zht  

     {b`m &
		  II : aoIm AnZo Xoe H$mo ~hþV ß`ma H$aVr h¡ & 
	 (A)	 Ho$db I àmßV hmoVm h¡ 
	 (B)	 Ho$db II àmßV hmoVm h¡  
	 (C)	 I Am¡a II XmoZm| àmßV hmoVo h¢ 
	 (D)	 Z Vmo I Am¡a Z hr II àmßV hmoVm h¡ 
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	 77.	 A statement is followed by two 
conclusions I and II. Assuming 
everything in the statement to 
be true, decide which conclusion 
logically follows the statement ?

		  Statement  : During Corona, price of 
crude oil in foreign came too much 
low.  

		  Conclusions :
	 I :	 India  stored  oil during that 

period.
	 II :	Demand of produced crude oil 

increased.  

	 (A)	 Only I follows 
	 (B)	 Only II follows 
	 (C)	 Both I and II follow 
	 (D)	 Neither I nor II follows	

	 78.	 If ratio of male to female in 2010 was  
3 : 2 and in 2020 it was 2 : 3, then what 
will be its ratio in 2030 if trends remain 
the same ? 

	 (A)	 3 : 2 	 (B)	 2 : 3 

	 (C)	 4 : 1 	 (D)	 1 : 4 

	 79.	 Find the missing number.

		
	 (A)	 64	 (B)	 32
	 (C)	 26	 (D)	 25

	 77.	 EH$ H$WZ Ho$ ~mX Xmo {ZîH$f© I Am¡a II {X`o J`o  
h¢ & ̀ h _mZVo hþE {H$ H$WZ _| g~ Hw$N> gË` h¡, ̀ h 
{ZU©` H$s{OE {H$ Vm{H©$H$ ê$n go H$m¡Z-gm {ZîH$f© 
H$WZ go àmßV hmoVm h¡ ?

		  H$WZ : H$moamoZm H$mb _| H$ÀMo Vob H$s H$s_V {dXoem| 
_| ~hþV H$_ hmo J`r &  

		  {ZîH$f© :
		  I : ^maV Zo Cg Ad{Y _| Vob H$m ^ÊS>maU H$a  

     {b`m & 
		  II : CËnm{XV H$ÀMo Vob H$s _m±J ~‹T> J`r & 

	 (A)	 Ho$db I àmßV hmoVm h¡ 
	 (B)	 Ho$db II àmßV hmoVm h¡  
	 (C)	 I Am¡a II XmoZm| àmßV hmoVo h¢ 
	 (D)	 Z Vmo I Am¡a Z hr II àmßV hmoVm h¡ 

	 78.	 `{X 2010 _| nwéf go _{hbm H$m AZwnmV 3 : 2 Wm 

VWm 2020 _| `h 2 : 3 Wm, V~ 2030 _| BgH$m 

AZwnmV Š`m hmoJm `{X ê$PmZ `hr ahVm h¡ ? 

	 (A)	 3 : 2 	 (B)	 2 : 3 

	 (C)	 4 : 1 	 (D)	 1 : 4 

	 79.	 {dbwßV g§»`m H$mo kmV H$s{OE &

		
	 (A)	 64	 (B)	 32
	 (C)	 26	 (D)	 25
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	 80.	 Find out which of the following answer 
figures completes the figure matrix.

		

		  Answer figure

		

	 (A)	 1

	 (B)	 2

	 (C)	 3

	 (D)	 4

	 81.	 Mukesh is taller than Suresh but 

shorter than Rakesh. Rakesh is taller 

than Harish but shorter than Amar. 

Who among them is the shortest with 

regard to height ?

	 (A)	 Mukesh

	 (B)	 Suresh

	 (C)	 Harish

	 (D)	 Cannot be determined

	 80.	 H$m¡Z-gm CÎma AmH¥${V, AmH¥${V _¡{Q´>Šg H$mo nyam 
H$aVm h¡, kmV H$s{OE &

		

		  CÎma AmH¥${V

		

	 (A)	 1

	 (B)	 2

	 (C)	 3

	 (D)	 4

	 81.	 _wHo$e, gwaoe go b§~m h¡ naÝVw amHo$e go N>moQ>m h¡ & 

amHo$e, hare go b§~m h¡ naÝVw A_a go N>moQ>m h¡ & 

BZ_| {H$gH$s b§~mB© g~go H$_ h¡ ?

	 (A)	 _wHo$e

	 (B)	 gwaoe

	 (C)	 hare

	 (D)	 {ZH$mbm Zht Om gH$Vm
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	 82.	 What is false about technical 

communication ?   

	 (A)	 Can be understood by laymen

	 (B)	 Without feedback it is useless

	 (C)	 Tone used in it is not casual and 

informal 

	 (D)	 It is flexible

	 83.	 Interpersonal communication cannot 

be affected by 

	 (A)	 Clothes 

	 (B)	 Makeup 

	 (C)	 Accessories 

	 (D)	 Public speaking 

	 84.	 Listening skill depends on 

	 (A)	 Emotional intelligence 

	 (B)	 Interpersonal relationship 

	 (C)	 Transactional analysis 

	 (D)	 All of the above

	 82.	 VH$ZrH$s g§dmX Ho$ gå~ÝY _| Š`m AgË` h¡ ? 

	 (A)	 gmYmaU ì`pŠV Ûmam g_Pm Om gH$Vm h¡ 

	 (B)	 à{VnwpîQ> Ho$ {~Zm `h AZwn`moJr h¡

	 (C)	 Bg_| Cn`wŠV bhOm AZm¡nMm[aH$ Ed§ 

AmH$pñ_H$ Zht h¡ 

	 (D)	 `h bMrbm h¡

	 83.	 nmañn[aH$ g§dmX _________ Ûmam à^m{dV Zht 

{H$`m Om gH$Vm h¡ & 

	 (A)	 H$n‹S>m|  

	 (B)	 ûm¥§Jma

	 (C)	 ghm`H$ CnñH$am|  

	 (D)	 bmoH$ dmVm© 

	 84.	 gwZZo H$m H$m¡eb {Z^©a H$aVm h¡ 

	 (A)	 ^mdZmË_H$ ~w{Õ na  

	 (B)	 nmañn[aH$ gå~ÝYm| na 

	 (C)	 boZ-XoZ g§~§Yr {díbofU na 

	 (D)	 Cn`w©ŠV g^r na 



		  	 10223/DE – WQS/RCE – M

	 -26-	 Set-A

a\$  H$m`©  Ho$ {bE ñWmZ
Space for Rough Work

Study the graph given below and answer to the 
questions number 85 and 86 based on them.

	 85.	 In how many States, electrification of 
the villages have been completed at 
least 60% or above ?

	 (A)	 Five	 (B)	 Four

	 (C)	 Three	 (D)	 Two

	 86.	 In which State, percentage of electrified 
villages is double in comparison with 
State d ?

	 (A)	 a	 (B)	 b

	 (C)	 c	 (D)	 f

	 87.	 If ‘A’ stands for ‘=’, ‘B’ stands for ‘÷’, 
‘C’ stands for ‘×’, ‘D’ stands for ‘+’ and 
‘E’ stands for ‘–’, then which of the 
following is true ?

	 (A)	 26A4B8C12D20

	 (B)	 32B8C16D20A5

	 (C)	 40A8B4C10D30

	 (D)	 40B8C4A10C2

ZrMo {XE JE J«m\$ H$m AÜ``Z H$s{OE Am¡a Cg na AmYm[aV 
àíZ H«$_m§H$ 85 Am¡a 86 H$m CÎma Xr{OE &

	 85.	 {H$VZo amÁ`m| _| H$_ go H$_ 60% `m A{YH$ J«m_m| 
H$m {dÚwVrH$aU hmo MwH$m h¡ ?

	 (A)	 nm±M	 (B)	 Mma

	 (C)	 VrZ	 (D)	 Xmo

	 86.	 H$m¡Z-gm amÁ` Eogm h¡ Ohm± amÁ` X H$s VwbZm _| 
{dÚwVrH¥$V J«m_m| H$m à{VeV Xmo JwZm h¡ ?

	 (A)	 A	 (B)	 ~ 

	 (C)	 g	 (D)	 \$

	 87.	 `{X ‘A’ H$m AW© ‘=’ h¡, ‘B’ H$m AW© ‘÷’ h¡,  
‘C’ H$m AW© ‘×’ h¡, ‘D’ H$m AW© ‘+’ h¡ Am¡a ‘E’ 
H$m AW© ‘–’ h¡, Vmo {ZåZ{b{IV _| go H$m¡Z-gm 
ghr h¡ ?

	 (A)	 26A4B8C12D20

	 (B)	 32B8C16D20A5

	 (C)	 40A8B4C10D30

	 (D)	 40B8C4A10C2
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	 88.	 The difference of sums  of two sets 

of three consecutive numbers is 3, 

then how many common terms of the 

two sets are possible ? 	

	 (A)	 1

	 (B)	 2

	 (C)	 3

	 (D)	 0

	 89.	 If n is any non-zero real number, 

then which of the following will be 

greater than n ? 

	 (A)	 3n 

	 (B)	 n3

	 (C)	 9 – n 

	 (D)	 None of these 

	 90.	 Which of the following model is used to 

know the behaviour of two opponents 

competing for the conflicting goals ? 

	 (A)	 Game theory Model 

	 (B)	 Conflicting Model 

	 (C)	 Decision Making Model 

	 (D)	 Allocation Model 

	 88.	 VrZ H«$_mJV g§»`mAm| Ho$ Xmo g_wÀM`m| H$m ̀ moJ H$m 

AÝVa 3 h¡, V~ XmoZm| g_wÀM`m| Ho$ {H$VZo nXm| Ho$ 

C^`{ZîR> hmoZo H$s g§^mdZm h¡ ? 

	 (A)	 1

	 (B)	 2

	 (C)	 3

	 (D)	 0

	 89.	 `{X n H$moB© eyÝ`oVa dmñV{dH$ g§»`m hmo, V~ {ZåZ 

_| go H$m¡Z n go ~‹S>m hmoJm ? 

	 (A)	 3n 

	 (B)	 n3

	 (C)	 9 – n

	 (D)	 BZ_| go H$moB© Zht 

	 90.	 {ZåZ _| go H$m¡Z-gm _m°S>b {damoYm^mgr bú`m| H$s 

àmpßV Ho$ {bE Xmo {damo{Y`m| Ho$ ì`dhma H$mo OmZZo 

Ho$ {bE Cn`moJ {H$`m OmVm h¡ ? 

	 (A)	 Iob {gÕm§V _m°S>b 

	 (B)	 {damoYm^mgr _m°S>b 

	 (C)	 {ZU©` {Z_m©U _m°S>b 

	 (D)	 Amd§Q>Z _m°S>b 
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	 91.	 Consider following statements with 

reference to sodium bicarbonate :

	 a.	 Sodium bicarbonate is an 

intermediate product in solvay 

ammonia soda process.

	 b.	 Sodium bicarbonate is highly 

soluble in water.

	 c.	 The solution of sodium bicarbonate 

is acidic in nature due to hydrogen 

atom.

	 d.	 It gives pink colour with 

phenolphthalein.

	 e.	 Baking powder is a mixture 

of Rochelle salt and sodium 

bicarbonate.

		  Wrong statements are

	 (A)	 a, b and c

	 (B)	 b, c and d

	 (C)	 a, b and e

	 (D)	 c, d and e

	 91.	 gmo{S>`_ ~mB©H$m~m}ZoQ> Ho$ g§X^© _| {ZåZ H$WZm| na 

{dMma H$s{O`o :

	 a.	 gmo{S>`_ ~mB©H$m~m}ZoQ> gmëdo A_mo{Z`m gmoS>m 
àH«$_ H$m EH$ _mÜ`{_H$ CËnmX h¡ &

	 b.	 gmo{S>`_ ~mB©H$m~m}ZoQ> Ob _| AË`{YH$ 
{dbo` h¡ &

	 c.	 hmBŚ>moOZ na_mUw Ho$ H$maU gmo{S>̀ _ ~mB©H$m~m}ZoQ> 
{db`Z Aåbr` àH¥${V H$m h¡ &

	 d.	 `h {\$ZmßWbrZ Ho$ gmW Jwbm~r a§J XoVm h¡&

	 e.	 ~oqH$J nmCS>a, amoeobo bdU Ed§ gmo{S>`_ 
~mB©H$m~m}ZoQ> H$m {_lU h¡ &

		  JbV H$WZ h¡

	 (A)	 a, b Ed§ c

	 (B)	 b, c Ed§ d

	 (C)	 a, b Ed§ e

	 (D)	 c, d Ed§ e

Part – 4
Science, Technology, Environment, 

Agriculture and Forestry
{dkmZ, àm¡Úmo{JH$s, n`m©daU,  

H¥${f Ed§ dm{ZH$s
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	 92.	 Which are mismatched ?

	 a.	 Caprolactaum – Backmann’s 
rearrangement

	 b.	 Synthetic polymer – PDI (Poly 
Dispersity Index) < 1

	 c.	 Teflon – Homopolymer

	 d.	 PVC – Eye lenses

	 e.	 Plasticiser for PVC – Esters of 
phthalic acid

	 (A)	 a and b	 (B)	 b and d

	 (C)	 c and d	 (D)	 a and e

	 93.	 Gypsum is added to clinker during 
cement manufacture to

	 (A)	 Decreasing the rate of setting of 
cement

	 (B)	 Make the cement impervious

	 (C)	 Binding the particles of calcium 
silicate

	 (D)	 To facilitate the formation of 
colloidal gel

	 94.	 A + 2B  

 

 2C + D
	 	 1 mole of A reacts with 1.5 mole of B in 

such a way that at equilibrium number 
of moles of A and D are equal. The 
equilibrium constant will be

	 (A)	 1.0	 (B)	 2.5

	 (C)	 3.2	 (D)	 4.00

	 92.	 {ZåZ _| H$m¡Z gw_o{bV Zht h¡ ?

	 a.	 Ho$namoboŠQ>_ - ~oH$_oZ nwZì`©dñWmnZ

	 b.	 g§íbo{fH$ ~hþbH$ - PDI (nm°br {S>g²na{gQ>r 
B§S>oŠg) < 1

	 c.	 Q>oâbm°Z - hmo_monm°br_a

	 d.	 PVC – Am±Im| Ho$ boÝg

	 e.	 PVC Ho$ {b ò ßbmpñQ>H$maH$ - W¡{bH$ Aåb 
Ho$ EñQ>a 

	 (A)	 a Ed§ b	 (B)	 b Ed§ d

	 (C)	 c Ed§ d	 (D)	 a Ed§ e

	 93.	 gr_|Q> Ho$ CËnmXZ _| {Oßg_ pŠb¨H$a _| {_bmZo H$m 
H$maU h¡

	 (A)	 `h gr_|Q> Ho$ goqQ>J H$s Xa H$mo H$_ H$aVm h¡

	 (B)	 `h gr_|Q> H$mo Aàdoí` ~ZmVm h¡
	 (C)	 `h H¡$pëe`_ {g{bHo$Q> Ho$ H$Um| H$mo ~m±Y H$a 

aIVm h¡ 
	 (D)	 `h H$mobm`S>b Oob {Z_m©U H$mo AmgmZ 

H$aVm h¡

	 94.	 A + 2B  

 

 2C + D

		  1.5 _mob B go 1 _mob A Bg àH$ma {H«$`m H$aVm 

h¡ {H$ gmå`mdñWm na A Ed§ D Ho$ _mob H$s g§»`m 

g_mZ h¡ & gmå`mdñWm pñWam§H$ H$m _mZ hmoJm

	 (A)	 1.0	 (B)	 2.5

	 (C)	 3.2	 (D)	 4.00
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	 95.	 When an impurity in metal has greater 
affinity for oxygen and is more easily 
oxidized, then the metal is refined by

	 (A)	 Electrolytic process

	 (B)	 Zone refining

	 (C)	 Bessemerisation

	 (D)	 Cupellation

	 96.	 Lauryl alcohol ethoxylate is a

	 (A)	 Anionic detergent

	 (B)	 Cationic detergent

	 (C)	 Non-ionic detergent

	 (D)	 Zwitter ionic detergent

	 97.	 The rate of reaction is expressed in 

different ways as follows :
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	 	 The reaction is

	 (A)	 4A + B = 2C + 3D

	 (B)	 B + 3D = 4A + 2C

	 (C)	 A + B = C + D

	 (D)	 2C + 4A = B + 3D

	 95.	 O~ YmVw _| CnpñWV Aew{Õ H$s AmŠgrOZ Ho$ à{V 
~ÝYwVm A{YH$ hmo Ed§ gabVm go AmŠgrH¥$V hmoVm 
hmo, Vmo YmVw H$m emoYZ {H$`m OmVm h¡

	 (A)	 {dÚwV AnKQ>r` {d{Y go

	 (B)	 OmoZ [a\$m`qZJ go

	 (C)	 ~ogo_arH$aU go

	 (D)	 Š`ynobrH$aU go

	 96.	 bm°[ab EëH$mohb EWmoOmB©boQ> EH$ h¡

	 (A)	 F$Um`{ZH$ An_mO©H$

	 (B)	 YZm`{ZH$ An_mO©H$

	 (C)	 Zm°Z-Am`{ZH$ An_mO©H$

	 (D)	 pÁdQ>a Am`{ZH$ An_mO©H$

	 97.	 {ZåZmZwgma A{^{H«$`m H$s Xa {d{^ÝZ ê$nm| _| ì`ŠV 
{H$`m J`m h¡ :
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		  A{^{H«$`m h¡ 

	 (A)	 4A + B = 2C + 3D

	 (B)	 B + 3D = 4A + 2C

	 (C)	 A + B = C + D

	 (D)	 2C + 4A = B + 3D
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	 98.	 During the process of electrorefining 
of copper, the anode mud contains

	 (A)	 Sn and Ni	 (B)	 Pb and Zn

	 (C)	 Fe and Ni	 (D)	 Ag and Au

	 99.	

		  [X], [Y] and [Z] are respectively

		    [X]	   [Y]	   [Z]

	 (A)	 Plaster 	 Dead	 Calcium
		  of Paris	 plaster	 sulphide

	 (B)	 Dead	 Plaster	 Calcium
		  plaster	 of Paris	 sulphite

	 (C)	 Plaster	 Dead	 Lime
		  of Paris	 plaster

	 (D)	 Anhydrous	Plaster	 Calcium
		  Calcium	 of Paris	 Carbonate
		  Sulphate

	100.	 The pH of 0.1 M solution of weak 
monoprotic acid is 4.0. The dissociation 
constant of acid is

	 (A)	 1 × 10–10	 (B)	 1 × 10– 4

	 (C)	 1 × 10–7	 (D)	 1 × 10–5

	 98.	 H$mna Ho$ {dÚwVemoYZ àH«$_ Ho$ Xm¡amZ, EZmoS> H$sM‹S> 
_| ahVm h¡

	 (A)	 Sn Ed§ Ni	 (B)	 Pb Ed§ Zn

	 (C)	 Fe Ed§ Ni	 (D)	 Ag Ed§ Au

	 99.	

		  [X], [Y] Ed§ [Z] H«$_e: h¢ 

		    [X]	   [Y]	   [Z]

	 (A)	 ßbmñQ>a Am°\$	 _¥V ßbmñQ>a	 H¡$pëe`_
		  no[ag		  gë\$mB©S>

	 (B)	 _¥V ßbmñQ>a	 ßbmñQ>a Am°\$	 H¡$pëe`_
			   no[ag	 gë\$mB©Q>

	 (C)	 ßbmñQ>a Am°\$	 _¥V ßbmñQ>a	 MyZm
		  no[ag

	 (D)	 AZmX©«	 ßbmñQ>a Am°\$	 H¡$pëe`_
		  H¡$pëe`_	 no[ag	 H$m~m}ZoQ>
		  gë\o$Q>

	100.	 Xþ~©b _moZmoàmo{Q>H$ Aåb Ho$ 0.1 M {db`Z H$m 

pH 4.0 h¡ & Aåb H$m {d`moOZ pñWam§H$ h¡

	 (A)	 1 × 10–10	 (B)	 1 × 10– 4

	 (C)	 1 × 10–7	 (D)	 1 × 10–5
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	101.	 The critical angle for diamond (refractive 
index = 2) is

	 (A)	 About 20°	 (B)	 60°

	 (C)	 45°	 (D)	 30°

	102.	 An electric current passes through a long 
straight wire. At a distance 5 cm from the 
wire the magnetic field is B. The field at 
20 cm from the wire would be 

	 (A)	 B
6

	 (B)	 B
4

	 (C)	
B
3 	 (D)	 B

2

	103.	 In the circuit shown in the figure the 
current flowing in 2Ω resistance is

		

	 (A)	 1.4 A	 (B)	 1.2 A

	 (C)	 0.4 A	 (D)	 1.0 A

	104.	 When two deuterium nuclei fuse 
together to form a tritium nuclei, we 
get a

	 (A)	 Neutron	 (B)	 Deuteron

	 (C)	 α-particle	 (D)	 Proton

	101.	 hrao Ho$ {b`o H«$mpÝVH$ H$moU h¡ (AndV©Zm§H$ = 2)

	 (A)	 bJ^J 20°	 (B)	 60°

	 (C)	 45°	 (D)	 30°

	102.	 EH$ bå~o Ymamdmhr Vma go 5 go._r. H$s Xÿar na 
Mwå~H$s` joÌ B h¡ & Vma go 20 go._r. H$s Xÿar na 
Mwå~H$s` joÌ hmoJm

	 (A)	 B
6

	 (B)	 B
4

	 (C)	
B
3 	 (D)	 B

2

	103.	 {MÌ _| 2Ω dmbo à{VamoY go àdm{hV hmoZo dmbr 
Ymam H$m _mZ h¡

		

	 (A)	 1.4 A	 (B)	 1.2 A

	 (C)	 0.4 A	 (D)	 1.0 A

	104.	 O~ Xmo S²>`wQ>o[a`_ Zm{^H$ g§b{`V hmoH$a Q´>r{Q>`_ 
Zm{^H$ ~ZmVo h¢ V~ àmßV hmoVm h¡ 

	 (A)	 Ý`wQ´>mZ	 (B)	 S²>`wQoamZ

	 (C)	 α-H$U	 (D)	 àmoQ>m°Z
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	105.	 In a magnetic field of 0.05 T, area of a 
coil changes from 101 cm2 to 100 cm2 
without changing the resistance which 
is 2 Ω. The amount of charge that flows 
from coil during this period is

	 (A)	 2.5 × 10–6 coulomb

	 (B)	 2 × 10–6 coulomb

	 (C)	 10–6 coulomb

	 (D)	 8 × 10–6 coulomb

	106.	 A 60 watt bulb operates on 220 volt 
supply. The current flowing through 
the bulb is

	 (A)	 11
3

 Amp.	 (B)	
3
11 Amp.

	 (C)	 3 Amp.	 (D)	 6 Amp.

	107.	 The focal length of a concave mirror 
is f and the distance from the object 
to the principle focus is X. The ratio of 
the size of the image to the size of the 
object is

	 (A)	 f X
X
+

	 (B)	
f
X

	 (C)	 f
X

	 (D)	
f
X

2

2

	105.	 0.05 T Ho$ Mwå~H$s` joÌ _| EH$ Hw$ÊS>br H$m 
joÌ\$b 101 go._r.2 go ~Xb H$a 100 go._r.2 
hmo OmVm h¡, O~{H$ BgH$m à{VamoY 2 Ω An[ad{V©V 
ahVm h¡ & Bg AÝVamb _| Hw$ÊS>br go àdm{hV Amdoe 
hmoJm

	 (A)	 2.5 × 10–6  Hw$bm_

	 (B)	 2 × 10–6  Hw$bm_

	 (C)	 10–6  Hw$bm_

	 (D)	 8 × 10–6  Hw$bm_

	106.	 EH$ 60 dmQ> H$m ~ë~ 220 dmoëQ> H$s Amny{V© na 
H$m`© H$aVm h¡ & Bg_| go ~hZo dmbr Ymam H$m _mZ 
hmoJm

	 (A)	 11
3

 Epån.	 (B)	
3
11 Epån.

	 (C)	 3 Epån.	 (D)	 6 Epån.

	107.	 EH$ AdVb Xn©U H$s \$moH$g Xÿar f h¡ VWm _w»` 
\$moH$g go dñVw H$s Xÿar X h¡ & à{V{~å~ Ho$ AmH$ma 
VWm dñVw Ho$ AmH$ma _| {Zîn{Îm hmoJr

	 (A)	 f X
X
+

	 (B)	
f
X

	 (C)	 f
X

	 (D)	
f
X

2

2
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	108.	 If the angular momentum of an electron 

is J


, then the magnitude of the 

magnetic moment will be

	 (A)	 eJ
m

	 (B)	 eJ
m2

	 (C)	 2eJm

	 (D)	 2m
eJ

	109.	 The operation of a nuclear reactor is 
said to be critical, if the multiplication 
factor (K) has the value

	 (A)	 1

	 (B)	 1.5

	 (C)	 2.1

	 (D)	 2.5

	110.	 A person uses a lens of power +3D 
to normalise vision. Near point of 
hypermetropia eye is

	 (A)	 1 m

	 (B)	 1.66 m

	 (C)	 2 m

	 (D)	 0.66 m

	108.	 `{X EH$ BboŠQ´>mZ H$m H$moUr` g§doJ J


h¡, Vmo BgHo$ 
Mwå~H$s` AmKyU© H$m n[a_mU h¡

	 (A)	 eJ
m

	 (B)	 eJ
m2

	 (C)	 2eJm

	 (D)	 2m
eJ

	109.	 Zm{^H$s` g§`§Ì H$s g§{H«$`m H«$m§{VH$ H$hbmVr h¡, 
`{X nwZéËnmXZ JwUm§H$ (K) H$m _mZ h¡

	 (A)	 1

	 (B)	 1.5

	 (C)	 2.1

	 (D)	 2.5

	110.	 EH$ ì`pŠV AnZr ÑpîQ> H$mo gm_mÝ` H$aZo Ho$ {b`o 
+3D j_Vm H$m boÝg Cn`moJ H$aVm h¡, Vmo XÿaÑpîQ> 
Xmof go nr{‹S>V Bg ZoÌ Ho$ {b`o {ZH$Q> q~Xþ h¢

	 (A)	 1 m

	 (B)	 1.66 m

	 (C)	 2 m

	 (D)	 0.66 m
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	111.	 Presence of RBC in urine is known as

	 (A)	 Proteinuria	 (B)	 Alkaptonuria

	 (C)	 Hematuria	 (D)	 Uraethiasis

	112.	 A yellow substance oozing out from 
wound has 

	 (A)	 Lymph + RBC + WBC

	 (B)	 Lymph + RBC + Dead Bacteria

	 (C)	 Lymph + WBC + Dead Bacteria

	 (D)	 Lymph + Dead Leucocytes

	113.	 The contraction of gall bladder is 
induced by

	 (A)	 Gastrin	

	 (B)	 Secretin 

	 (C)	 Cholecystokinin

	 (D)	 Enterogastrone

	114.	 Cells in blood that destroy disease 
producing bacteria 

	 (A)	 Platelets

	 (B)	 RBC 

	 (C)	 WBC

	 (D)	 Skin cells

	115.	 The digestion process within the cell 
of the amoeba is called as

	 (A)	 Multicellular digestion

	 (B)	 Unicellular digestion

	 (C)	 Intracellular digestion

	 (D)	 Amoebic digestion

	111.	 _yÌ _| RBC H$s CnpñW{V H$hbmVr h¡

	 (A)	 àmoQrZy[a`m	 (B)	 EoëHo$ßQ>moZy[a`m

	 (C)	 hr_oQy>[a`m	 (D)	 `yarWogrg

	112.	 Kmdm| go {ZH$bZo dmbo nrbo nXmW© _| hmoVm h¡ 

	 (A)	 {bå\$ + RBC + WBC 

	 (B)	 {bå\$ + RBC + _¥V ~¡ŠQ>r[a`m

	 (C)	 {bå\$ + WBC + _¥V ~¡ŠQ>r[a`m

	 (D)	 {bå\$ + _¥V ë`yH$mogmBQ>

	113.	 Jm°b ãboS>a Ho$ g§Hw$MZ H$mo ào[aV H$aVm h¡ 

	 (A)	 JoñQ´>rZ

	 (B)	 grH«$sQ>rZ

	 (C)	 H$m°bo{gñQ>moH$m`ZrZ
	 (D)	 EÝQ>oamoJoñQ´>mZ

	114.	 aŠV H$s H$mo{eH$mE± Omo amoJ CËnÞ H$aZo dmbo 
~¡ŠQ>r[a`m H$mo ZîQ> H$aVr h¢, do h¢

	 (A)	 ßboQ>boQ²>g

	 (B)	 RBC

	 (C)	 WBC
	 (D)	 ËdMm H$s H$mo{eH$mE±

	115.	 A_r~m H$s H$mo{eH$m Ho$ ̂ rVa H$s nmMZ à{H«$`m H$mo 
H$hm OmVm h¡

	 (A)	 ~hþH$moeH$s` nmMZ

	 (B)	 EH$ H$moeH$s` nmMZ

	 (C)	 A§V:H$moeH$s` nmMZ

	 (D)	 A_mo~rH$ nmMZ
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	116.	 The gestation period is the period 
between 

	 (A)	 Sexual maturity and birth

	 (B)	 Birth and death

	 (C)	 Fertilization and birth

	 (D)	 Egg laying and hatching

	117.	 In plants, unripen fruits are bitter 
and sour due to presence of which 
excretory material ?

	 (A)	 Resins

	 (B)	 Tannins

	 (C)	 Latex

	 (D)	 Glucosides

	118.	 According to oparin, life originated as

	 (A)	 Gradual chemical changes

	 (B)	 God’s desire

	 (C)	 Effect of sunlight on mud

	 (D)	 None of the above

	119.	 Maize is an example of which of the 
following ?

	 (A)	 Anemophily

	 (B)	 Zoophily

	 (C)	 Hydrophily

	 (D)	 Artificial Pollination

	116.	 JoñQ>oeZ H$mb {ZåZ _| go {H$gHo$ ~rM H$m H$mb h¡ ?

	 (A)	 b¢{JH$ n[anŠdVm Ed§ OÝ_

	 (B)	 OÝ_ d _¥Ë`w

	 (C)	 {ZfoMZ d OÝ_

	 (D)	 AÊS> CËgO©Z Ed§ h¡qMJ

	117.	 nmXnm| _| {H$g CËgOu nXmW© Ho$ H$maU H$ƒo \$b 
H$‹S>do Ed§ IÅ>o hmoVo h¢ ?

	 (A)	 aoOrZ

	 (B)	 Q>oZrZ

	 (C)	 boQ>oŠg

	 (D)	 ½bwH$mogmBS>g

	118.	 Amono[aZ Ho$ AZwgma OrdZ H$m CX²J_ hþAm

	 (A)	 H«${_H$ amgm`{ZH$ n[adV©Z go

	 (B)	 ^JdmZ H$s BÀN>m go

	 (C)	 H$sM‹S> na gy`© Ho$ àH$me Ho$ à^md go

	 (D)	 CnamoŠV _| go H$moB© Zht

	119.	 _ŠH$m {ZåZ _| go {H$gH$m CXmhaU h¡ ?

	 (A)	 dm`w namJU

	 (B)	 OÝVw namJU

	 (C)	 Ob namJU

	 (D)	 H¥${Ì_ namJU
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	120.	 Which of the following method is an 

active mineral uptake method ?

	 (A)	 Mass flow

	 (B)	 Ion exchange

	 (C)	 The carrier concept

	 (D)	 All of the above

	121.	 Which is the other function performed 

by kidney apart from excretion ?

	 (A)	 Osmoregulation

	 (B)	 Thermoregulation

	 (C)	 Hormonal regulation

	 (D)	 Enzyme regulation

	122.	 Stock and Scion are used in which 

method of vegetative reproduction ?

	 (A)	 Cutting

	 (B)	 Layering

	 (C)	 Grafting

	 (D)	 All of the above

	120.	 {ZåZ _| go H$m¡Z-gr {d{Y I{ZO bdUm| Ho$ g{H«$` 

AdemofU H$s {d{Y h¡ ?

	 (A)	 ñWyb àdmh

	 (B)	 Am`Zm| H$m {d{Z_`

	 (C)	 dmhH$ g§H$ënZm

	 (D)	 CnamoŠV g^r

	121.	 d¥ŠH$ Ûmam CËgO©Z Ho$ A{V[aŠV Am¡a H$m¡Z-gm H$m ©̀ 

{H$`m OmVm h¡  ?

	 (A)	 namgaU {Z`_Z

	 (B)	 Vmn {Z`_Z

	 (C)	 hm_m}Z {Z`_Z

	 (D)	 EÝµOmB_ {Z`_Z

	122.	 ñQ>m°H$ Ed§ {g`mZ H$m Cn`moJ dYu àOZZ H$s {H$g 

{d{Y _| {H$`m OmVm h¡ ?

	 (A)	 H$Q>mB©

	 (B)	 ñVaU

	 (C)	 {ZamonU

	 (D)	 CnamoŠV g^r
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	123.	 What is the significance of Barr body 
for geneticists and biologists ?

	 (A)	 To indicate the presence of 
abnormal sex cells

	 (B)	 To indicate the presence of more 
than one X chromosome in the 
cells

	 (C)	 To indicate male cells

	 (D)	 To signify the presence of sex 
linked traits

	124.	 If 18 ATP are required for the synthesis 
of one molecule of glucose, then the 
plant will be

	 (A)	 C3 plant

	 (B)	 C4 plant

	 (C)	 CAM plant

	 (D)	 Both (B) and (C)

	125.	 Which has the highest speed of 

nerve impulse ?

	 (A)	 Medullated nerve

	 (B)	 Non-medullated nerve 

	 (C)	 Cranial nerve

	 (D)	 Spinal nerve

	123.	 AmZwd§{eH$ d¡km{ZH$ Ed§ O¡dd¡km{ZH$m| Ho$ {bE ~ma 
~m°S>r H$m Š`m _hËd h¡ ?

	 (A)	 Agm_mÝ` qbJ H$mo{eH$m H$s CnpñW{V Xem©Zm

	 (B)	 H$mo{eH$m _| EH $go A{YH$ X H«$mo_mogmo_ H$s 

CnpñW{V Xem©Zm

	 (C)	 Za H$mo{eH$m H$mo Xem©Zm

	 (D)	 qbJ ghb½Z amoJ H$s CnpñW{V ~VmZm

	124.	 `{X ½bwH$moO Ho$ EH$ AUw Ho$ {Z_m©U _| 18 E.Q>r.nr. 

Amdí`H$ hmo, Vmo dh nmXn hmoJm 

	 (A)	 C3 nmXn

	 (B)	 C4 nmXn

	 (C)	 CAM nmXn

	 (D)	 (B) Ed§ (C) XmoZm|

	125.	 VpÝÌH$m AmdoJ H$s gdm©{YH$ Vrd« J{V {H$g_| 

hmoVr h¡ ?

	 (A)	 _oS²>`yboQ>oS> VpÝÌH$m

	 (B)	 Zm°Z-_oS²>`yboQ>oS> VpÝÌH$m

	 (C)	 H«o${Z`b VpÝÌH$m

	 (D)	 ñnmBZb VpÝÌH$m
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	126.	 Which one is a drought tolerant 
variety of chick pea ?

	 (A)	 BGM – 4005

	 (B)	 Vaibhav

	 (C)	 Chhattisgarh Chana – 2

	 (D)	 JG 74

	127.	 What is the state tree of Chhattisgarh ?
	 (A)	 Sal Tree	 (B)	 Teak Tree

	 (C)	 Peepal Tree	 (D)	 Banyan Tree

	128.	 Percentage of crossing over is more 
when

	 (A)	 Genes are located in a different 
cell

	 (B)	 Genes are not linked

	 (C)	 Linked genes are located close to 
each other

	 (D)	 Linked genes are located far apart 
from each other

	129.	 The method for quickest development 
of plant breeding varieties is

	 (A)	 Selection

	 (B)	 Hybridization

	 (C)	 Mutation breeding

	 (D)	 Introduction

	126.	 MZo H$s gyIm ghZerb {H$ñ_ H$m¡Z-gr h¡ ? 

	 (A)	 ~r Or E_ – 4005

	 (B)	 d¡^d

	 (C)	 N>ÎmrgJ‹T> MZm – 2

	 (D)	 Oo Or 74

	127.	 N>ÎmrgJ‹T> H$m amÁ` d¥j Š`m h¡ ?
	 (A)	 gmb d¥j	 (B)	 gmJm¡Z d¥j
	 (C)	 nrnb d¥j	 (D)	 dQ> d¥j

	128.	 OrZ {d{Z_` H$m à{VeV Á`mXm hmoVm h¡, O~

	 (A)	 OrÝg n¥WH$ H$mo{eH$m _| pñWV hmoVo h¢ 

	 (B)	 OrÝg ghb½Z Zht hmoVo h¢

	 (C)	 ghb½Z OrZ EH$ Xÿgao Ho$ g_rn hmoVo h¢ 

	 (D)	 ghb½Z OrZ EH$ Xÿgao go AbJ hmoVo h¢

	129.	 nmXn àOZZ H$s {H$ñ_m| Ho$ OëXr {dH$mg hoVw  
H$m¡Z-gr {d{Y h¡ ? 

	 (A)	 M`Z

	 (B)	 g§H$aU

	 (C)	 CËn[adV©Z àOZZ {d{Y

	 (D)	 BÝQ´>moS>ŠeZ
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	130.	 Which is the apex banking institution 
for providing finance for agriculture 
and rural development in India ?

	 (A)	 RBI

	 (B)	 SEBI

	 (C)	 IBRD

	 (D)	 NABARD

	131.	 The branch of study that deals about 

forests and woods, with an understanding 

of forest ecosystems and silvicultural 

system followed is called

	 (A)	 Forest management

	 (B)	 Silvology

	 (C)	 Silviculture

	 (D)	 Sericulture

	132.	 Which is the most serious disease  

of tomato in the rainy and autumn 

season ?

	 (A)	 TMV

	 (B)	 CMV

	 (C)	 Leaf curl

	 (D)	 Tomato spotted wilt virus

	130.	 ^maV _| H$m¡Z-gm EonoŠg ~¢qH$J g§ñWmZ H¥${f Ed§ 

J«m_rU {dH$mg Ho$ {b`o {dÎm àXmZ H$aVm h¡ ?

	 (A)	 Ama.~r.AmB©.

	 (B)	 go~r

	 (C)	 AmB©.~r.Ama.S>r.

	 (D)	 Zm~mS>©

	131.	 dh emIm {Og_| dZm| Ed§ H$mîR>> H$m dZ nm[apñW{VH$s 
Ed§ {gëdrH$ëMab {gñQ>_ H$m AÜ``Z {H$`m  
OmVm h¡, H$hbmVm h¡

	 (A)	 dZ à~§YZ

	 (B)	 {gëdmobmoOr

	 (C)	 {gëdrH$ëMa

	 (D)	 goarH$ëMa

	132.	 dfm© Ed§ Am°Q>_ F$VwAm| _| Q>_mQ>a H$s g~go Jå^ra 

~r_mar H$m¡Z-gr h¡ ? 

	 (A)	 Q>r E_ ìhr

	 (B)	 gr E_ ìhr

	 (C)	 br\$ H$b©

	 (D)	 Q>_mQ>a ñnm°Q>oS> {dëQ> dm`ag
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	133.	 How the satellites can be useful in 
agriculture sector ?

	 (A)	 Weather predictability

	 (B)	 Monitoring crop health

	 (C)	 Biomass mapping

	 (D)	 All of the above

	134.	 A branch of forestry that deals with 
the determination and dimensions

	 (A)	 Forest mensuration

	 (B)	 Joint forest management

	 (C)	 Silviculture

	 (D)	 Forest primeval

	135.	 The species/wild animals which are in 
danger of extinction of Chhattisgarh is 

	 (A)	 Frog (Hoplobatrachus tigerinus)

	 (B)	 Tortoise

	 (C)	 Wild Elephants

	 (D)	 Bear

	136.	 Western ghat is known as hot spot of 
biodiversity in India because of

	 (A)	 High endemism

	 (B)	 Tropical climate

	 (C)	 More height

	 (D)	 Presence of evergreen forests

	133.	 H¥${f joÌ _| goQ>obmBQ> {H$g Vah go Cn`moJr h¡ ?

	 (A)	 _m¡g_ H$s OmZH$mar

	 (B)	 \$gb ñdmñÏ` XoIaoI

	 (C)	 ~m`mo_mg H$s _¡qnJ

	 (D)	 Cn`w©ŠV g^r

	134.	 \$maoñQ´>r H$s dh emIm Omo {S>Q>a{_ZoeZ Am¡a 
S>mB_oÝeÝg Ho$ ~mao _| OmZH$mar XoVr h¢ 

	 (A)	 dZ _oZ²gyaoeZ

	 (B)	 g§`wŠV dZ à~§YZ

	 (C)	 {gëdrH$ëMa

	 (D)	 \$maoñQ> àr{_db

	135.	 N>ÎmrgJ‹T> _| Eogr H$m¡Z-gr ñnrµOrO/O§Jbr OmZda 
àOmVr {dbwßVr Ho$ H$Jma na h¡ 

	 (A)	 _|T>H$ (hmoßbmo~¡Q´>mH$g Q>mBJ[aZg)

	 (B)	 H$Nw>Am

	 (C)	 O§Jbr hmWr

	 (D)	 ^mby

	136.	 ^maVdf© _| npíM_r KmQ> H$mo O¡d{d{dYVm H$m 
VßVñWb H$ho  OmZo H$m à_wI H$maU h¡

	 (A)	 CÀM EÊS>o{_Á_

	 (B)	 D$îUH${Q>~ÝYr` Obdm`w

	 (C)	 A{YH$ D±$MmB©

	 (D)	 gXm~hma dZm| H$m nm`m OmZm
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	137.	 The State of India which have all 

the three species of crocodile and 

started crocodile project is

	 (A)	 Uttar Pradesh	

	 (B)	 Maharashtra

	 (C)	 Kerala

	 (D)	 Rajasthan

	138.	 Example of major photo-chemical 

oxidant is 

	 (A)	 Peroxy acetyl nitrate

	 (B)	 Hydrogen peroxide

	 (C)	 Ozone

	 (D)	 Nitrogen oxide

	139.	 Application of GA-3 is used in hybrid 

seed production of 

	 (A)	 Sorghum

	 (B)	 Bajra

	 (C)	 Rice

	 (D)	 Maize

	137.	 ^maV H$m dh amÁ` {Og_| K{‹S`mb {H$ VrZm| 

àOm{V`m± h¢ Am¡a {OgZo K{‹S>`mb n[a`moOZm Ama§^ 

H$s h¡, dh h¡

	 (A)	 CÎma àXoe

	 (B)	 _hmamîQ´>

	 (C)	 Ho$ab

	 (D)	 amOñWmZ

	138.	 à_wI \$moQ>moHo${_H$b Am°ŠgrS>oÝQ> H$m CXmhaU h¡

	 (A)	 noam°Šgr E{g{Q>b ZmBQ´>oQ>

	 (B)	 hmBS´>moOZ noam°ŠgmBS>

	 (C)	 AmoOmoZ

	 (D)	 ZmBQ´>moOZ Am°ŠgmBS>

	139.	 GA-3 H$m AZwà`moJ$ {H$gHo$ g§H$a ~rO CËnmXZ 

_| {H$`m OmVm h¡ ?

	 (A)	 Ádma

	 (B)	 ~mOam

	 (C)	 Mmdb

	 (D)	 _ŠH$m
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	140.	 H$m¡Z-go nm¡Yo _¡{bH$ Eo{gS> H$mo doŠ`moëg _| ñQ>moa 
H$aHo$ aIVo h¢ ?

	 (A)	 Ho$_ 	 (B)	 gr3

	 (C)	 gr4	 (D)	 gr2

	141.	 {dH«$_ Q>r gr Ama {H$g \$gb H$s {H$ñ_ h¡ ?

	 (A)	 Johÿ±

	 (B)	 _ŠH$m

	 (C)	 MZm

	 (D)	 Mmdb

	142.	 YmZ Ho$ ""I¡am amoJ'' H$m Š`m H$maU h¡ ?

	 (A)	 \$\y§$Xr g§H«$_U

	 (B)	 OrdmUw

	 (C)	 {dfmUw

	 (D)	 OñVm H$s H$_r

	143.	 YmZ H$s \$gb Ho$ {b`o g~go AÀN>m Cd©aH$ 
H$m¡Z-gm h¡ ?

	 (A)	 A_mo{Z`_ gë\o$Q> 

	 (B)	 ZmBQ´>mo-\$m°ñ\o$Q>

	 (C)	 gwna \$mñ\o$Q>

	 (D)	 nmoQ>o{e`_ ZmBQ´>oQ>

	140.	 Which type of plants store malic acid 
in vacuoles ?

	 (A)	 CAM	 (B)	 C3 

	 (C)	 C4	 (D)	 C2

	141.	 Vikram TCR is the variety of which 
crop ?

	 (A)	 Wheat

	 (B)	 Maize

	 (C)	 Gram

	 (D)	 Rice

	142.	 Cause of Khaira disease of rice is 

	 (A)	 Fungal infection

	 (B)	 Bacteria

	 (C)	 Virus

	 (D)	 Deficiency of zinc

	143.	 Which is the best fertilizer for paddy ?

	 (A)	 Ammonium sulphate

	 (B)	 Nitro-phosphate

	 (C)	 Super phosphate

	 (D)	 Potassium nitrate
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	144.	 EH$ \$gb _m¡g_ _| qgMmB© Ho$ gr.gr.E. à{VeV 
H$mo Š`m H$hVo h¢ ?

	 (A)	 J«mg H$_mÝS> E[a`m

	 (B)	 H$ëMao~b H$ëQ>rdoQ>oS> E[a`m

	 (C)	 H$ëMao~b AZH$ëQ>rdoQ>oS> E[a`m

	 (D)	 qgMmB© H$s Vrd«Vm

	145.	 {ZåZ _| go H$m¡Z-gr {dÝS>mo AmnaoqQ>J {gñQ>_  
Zht h¡ ?

	 (A)	 {dÝS>moO  98

	 (B)	 ~r Eg S>r `y{ZŠg 

	 (C)	 _mBH«$mogm°âQ> Am°{\$g EŠg nr

	 (D)	 aoS> h°Q> bmBZŠg

	146.	 {ZåZ _| go {H$gHo$ {b ò Zm{^H$s` D$Om© Cn`moJr h¡ ? 

	 (A)	 \$gb gwYma

	 (B)	 ImÚ g§ajU

	 (C)	 {dÚwV CËnmXZ

	 (D)	 Cn`w©ŠV g^r

	147.	 ^maV _| g§`wŠV dZ à~§YZ n[aH$ënZm H$s ewéAmV 
H$~ hþB© ?

	 (A)	 1970	 (B)	 1980

	 (C)	 1990	 (D)	 1960

	144.	 What is called as percentage of C.C.A. 
irrigated at time in one crop season ?

	 (A)	 Gross Command Area

	 (B)	 Culturable Cultivated Area

	 (C)	 Culturable Uncultivated Area

	 (D)	 Intensity of Irrigation

	145.	 Which of the following is not an example 
of an window operating system ?

	 (A)	 Windows 98

	 (B)	 BSD Unix

	 (C)	 Microsoft Office XP

	 (D)	 Red Hat Linux

	146.	 Nuclear energy is useful for which of 
the following ?

	 (A)	 Crop improvement

	 (B)	 Food preservation

	 (C)	 Electricity generation

	 (D)	 All of the above

	147.	 When was Joint Forest Management 
concept introduced in India ?

	 (A)	 1970s	 (B)	 1980s

	 (C)	 1990s	 (D)	 1960s
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	148.	 Example of Ex-situ conservation is 

	 (A)	 Sacred groves

	 (B)	 Wildlife sanctuary

	 (C)	 Seed Bank

	 (D)	 National park

	149.	 Best method of disposal of refuse 

to ensure complete destruction of 

pathogenic bacteria is by

	 (A)	 Pulverisation

	 (B)	 Land disposal

	 (C)	 Incineration

	 (D)	 Mechanical composting

	150.	 Population approaching carrying 

capacity will show

	 (A)	 Zero population growth

	 (B)	 Mortality Rate < Natality Rate

	 (C)	 Mortality Rate > Natality Rate

	 (D)	 None of the above

	148.	 EŠg-grQy> g§ajU H$m CXmhaU h¡

	 (A)	 go{H«$S> J«moìg

	 (B)	 dmBëS>bmB\$ goÝH$Mwar

	 (C)	 ~rO ~¢H$

	 (D)	 amîQ´>r` nmH©$

	149.	 H$Mao _| CnpñWV amoJOZH$ OrdmUwAm| H$mo nyU©V: 

ZîQ> H$aZo H$s gdm©{YH$ Cn`wŠV {d{Y h¡

	 (A)	 nëdoamBOoeZ (MyUuH$aU)

	 (B)	 b¡ÊS> {S>ñnmoOb (^y{_ {ZnQ>mZ)

	 (C)	 BpÝgZaoeZ (^ñ_rH$aU)

	 (D)	 `m§{ÌH$ H$ånmopñQ>¨J

	150.	 OZg§»`m H$m YmaU j_Vm VH$ nhþ±MZm àX{e©V 

H$aVm h¡

	 (A)	 eyÝ` OZg§»`m d¥{Õ

	 (B)	 _¥Ë`w Xa < OÝ_ Xa

	 (C)	 _¥Ë`w Xa > OÝ_ Xa

	 (D)	 CnamoŠV _| go H$moB© Zht
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    SET –  A

CÎma A§{H$V H$aZo H$m g_` :            3 K§Q>o	 A{YH$V_ A§H$ : 300
Time for marking answers : 3 Hours	 Maximum Marks : 300

ZmoQ> :

1.	 Bg àíZ nwpñVH$m _| {ZåZ ^mJ hm|Jo -
	 ^mJ –	 (1)	 amÁ` H$m gm_mÝ` kmZ	 –	 1 – 30	
	 ^mJ –	 (2)	 ^mfm ({hÝXr, N>ÎmrgJ‹T>r Ed§ A§J«oOr)	 –	 31 – 60
	 ^mJ –	 (3)	 gm_mÝ` _mZ{gH$ `mo½`Vm	 –	 61 – 90
	 ^mJ –	 (4)	 {dkmZ, àm¡Úmo{JH$s, n`m©daU, H¥${f Ed§ dm{ZH$s	 –	 91 – 150
			 

	 àË`oH$ àíZ 2 A§H$ H$m h¡ & 

2.	 àíZm| Ho$ CÎma, Xr JB© OMR CÎma-erQ> (Am§gaerQ>) na A§{H$V H$s{OE Ÿ&

3.	 JbV CÎma A§{H$V H$aZo na � A§H$ H$mQ>o Om`|Jo &

4.	 {H$gr ^r Vah Ho$ H¡$bHw$boQ>a `m bm°J Q>o~b Ed§ _mo~mBb \$moZ H$m à`moJ d{O©V h¡ Ÿ&

5.	 OMR CÎma-erQ> (Am§gaerQ>>) H$m à`moJ H$aVo g_` Eogr H$moB© AgmdYmZr Z H$a|/~aV| {Oggo `h \$Q> Om`o `m 
Cg_| _mo‹S> `m {gbdQ> Am{X n‹S> Om`o {OgHo$ \$bñdê$n dh Iam~ hmo Om`o Ÿ&

Note :
1.	 This question Booklet contains Parts namely –

	 Part – (1)		 General Knowledge of the State	 –	 1 – 30	

	 Part – (2)	 Language (Hindi, Chhattisgarhi and English)	 –	 31 – 60
	 Part – (3)	 General Mental Ability	 –	 61 – 90
	 Part – (4)	 Science, Technology, Environment,	 –	 91 – 150
				  Agriculture and Forestry

		  Each question carries 2 marks. 

2.	 Indicate your answers on the OMR Answer-Sheet provided.

3.	 � mark will be deducted for each wrong answer.

4.	 Use of any type of calculator or log table and mobile phone is prohibited.

5.	 While using OMR Answer-Sheet care should be taken so that the Answer-Sheet does 
not get torn or spoiled due to folds and wrinkles.


